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OHAXZLE oiIh= A
1,127,527,0002 / 122 »86%/0 L +7 18,855
OAARBLR HILBAH H2MLE
18,855, 0002 3% 566
ONA=BLR (HOIESH|
50,0002 x19E «12& 11,400
OxAZE 22 620,806,000 620,806
OHAZE 22 WA=
620,806, 0002+ 3% 18,625
OHAAE N5+ 18,120
—H Xt 40,0003 *10H 128 4,800
L PE 30,0002 +102» 128 3,600
=L NE 70,0002 +82 122 6.720
L E 110,008 +124» 128 1,320
—JIEPHE 20,0002 7% 128 1,680
OFIBE AR 224Y (BUE)
20,920,002 20,920
OFAPE Al2tel 2242 MMM
20,920, 00021 %3% 628
OFAZE B2+g 44,263,002 44,263
OFAPE H24+Y HPHEE
44,263,000 *3% 1,328
OHAZE B24+Y I3
12,600,000 12,600




A HRN
A HZYRIZHI(HRH)
s lIEE2ghl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEEFEEEET]
175,000« 18+ 12& 37,800
OFAAF ZAUZAY|
140,000 x 18 =122 30,240
OBAZE YHEIMY
620,806,000& / 122 *»60%+23] 62,081
OFEZE BERIHI MRML=2
62,081,000 3% 1,863
OFAZZ AJIZ2 |
620,806,000 / 122 »86%/30& » 12 17,797
OFEZE 24l MRME2
17,797,000 3% 534
OFEZZ st
50,0002 x18H*12& 10,800
OBAAE AHIRLY
50,0002 x10E 122 6,000
OFAZE Hel+d 10,200
—apt 50,0009 122 5,400
—ot=xeld S 200,000& «2H* 123 4,800
OYsENH(AR+EY) 2= 562,951
—deLs 22
1,770,800 20 122 424,992
—ARLE 22 YL
424,992, 0003 #3% 12,750
— NI 140,0003 20+ 122 33,600
—AZtel 2Rag Hous
9,6202+208 * 122 2,309
— 82X 175,000 x20& < 12& 42,000
—SEFOHI
424,992,0002! /128 +60%+23] 42,500
—JtE=g 20,0002 «20H 122 4,800
204 MR AH| 371,760 369,960 1,800
01 MG HR=HAHH| 74,400 74,400 0
ONZ R4 AY| 74,400, 0002 74,400
02 SLR3H 297,360 295,560 1,800
ol 2lsH| 50,0002 ~400 < 122 240,000
Ootssl te Zst|
50,0002 x1& 122 600
Oz SFE 80,0002 x4 x 122 3,840
OHM=EY 322 100,000 x34E « 12& 40,800
ouuey s2A 150,000 x5 = 12 9,000
o0z 58 9y 24
100,000 x2&* 122 2,400
OB Yy 224
60,0002 x 18 * 122 720
Jl=3H 127,068 140,988 213,920




A HRN
B #ESAAY| (2D
=91: Jl=3dl (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl=3H] 31,920 45,840 213,920
201 er23 | 21,020 21,020 0
01 At2teltl 20,520 20,520 0
OMPL FM2ZHI(LB+8H| S)
10,800, 0002 10,800
OSAMIIZYS 48 2 s234Y
9,720,000& 9,720
02 S52g4l 500 500 0
ONSY A2 = 2ERS
500,000 500
202 04l 6,100 20,020 213,920
01 =LHAHI 6,100 20,020 213,920
ONSFY FAHRFE U0
6,100,000& 6,100
203 =4l 4,800 4,800
04 FAE2EERFAH 4,800 4,800
ORKN2g gR=4H| 4,800,000 4,800
Jl2gH(ZE) 95,148 95,148 0
203 BR8] 95,148 95,148
01 J|2=2gedR=a] 9,148 95,148
Ol #2gddL=aH|(2=)
58,848,000& 58,848
OI2A2FLRLFNHI(R2 )
36,300,000& 36,300
Wees (ML) 9,000,000 3,861,000 5,139,000
WA XIE 9,000,000 3,861,000 5,139,000
WA XIE 9,000,000 3,861,000 5,139,000
m@ISHES 9,000,000 3,861,000 5,139,000
01 JIsdEsS 9,000,000 3,861,000 5,139,000
O=dx M 8IS d&Es
9,000,000,000& 9,000,000






